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[1] #2PCB 33 %0.8 2.1
NI 6.2 0.02 0.06
[12] Y7 a7 ==L 11 0.2 0.4
[1-3] NV Zoa b7 o=/ 8.8 0.1 0.3
[1-4] 7 T 7 oa b7 ==Lk 4.4 0.2 0.5
[1-4-11 277 F—PCBD 5> H 33 44- 7T hFr7uut 7=V (#77) tr(0.03) 0.02 0.04
[1-4-2] 275 F—PCBDH H 3445 T hFr7unb7==/ (#81) nd 0.009 0.022
[1-5] v % 7nn 7 ==/VJF 2.0 0.09 0.24
[1-5-11 275 F—PCBD 5 H 23344~ ¥ /7unb 7 ==/ (#105) 0.04 0.02 0.04
[1-5-2] 277 —PCBD ) 5234452 F7uonb 7 ==/ (#114) nd 0.02 0.05
[1-5-3] 275 F—PCBD 5 H 23445 7unb7==) (#118) 0.11 0.01 0.03
[1-5-4] 275 F—PCBD H H 23445 ¥ 7unb ==/ (#123) nd 0.02 0.06
[1-5-5] 275 F—PCBD 5 5 33445 ¥ 7unb ==/ (#126) nd 0.01 0.03
[1-6] ~F V7 oo b7 o=/l 0.73 0.05 0.12
[1-6-11 =75 F—PCBD H H 233 445-~FH7opb 7=/l (#156) nd 0.02 0.04
[1-6-2] 277 —PCBD H 5233 44 5-~FH oo 7 ==/l (£157) nd 0.01 0.03
[1-6-3] 2777 —PCBD ) H 23 44 55-~FHhsopb 7 ==L (£167) nd 0.01 0.03
[1-6-4] 277 —PCBD ) 5 33 44 55-~F Y sopb 7 ==/ (£169) nd 0.01 0.03
[1-7]~F % 7un 7 ==/)VJE 0.18 0.05 0.13
[1-7-11 275 F—PCBD 5 H 223344 5-~F4 7t 7=\ (#170) tr(0.01) 0.01 0.04
[1-72] 275 F—PCBD H H 22 344,55-~F4 7t 7=/ (#180) tr(0.02) 0.01 0.03
[1-7-3] 275 F—PCBD 5 H 2,33 44,55-~F4 77 -=/L (#189) nd 0.01 0.03
[1-8] A7 % 7 un 7 = =/VJA nd 0.07 0.18
[1-9] /FZvnu b7 ==L nd 0.03 0.09
[1-10] T hH7aEE T 2 =)L nd 0.02 0.04
[2]HCB (~F¥H oo~ El) 70 0.06 0.14
[11] HCH¥H 14 %0.14 %0.34
[11-1] «-HCH 11 0.05 0.12
[11-2] B-HCH 0.80 0.02 0.06
[11-3]y-HCH (34 - VYT V) 2.2 0.05 0.12
[11-4] 5-HCH 0.21 0.02 0.04
[ AV TeEY 7= o—TF VH (AR H10ETOLD) tr(0.8) %0.5 %1.5
[14-1]1 T F 7 0EY T =2 =)L =—F )L 0.06 0.01 0.04
[14-1-1]122'44-7T h T 70 E V7 2 =)L—F /)L (#47) 0.04 0.01 0.03
[14-2] 4 7 0EY T = =)Lt —TF LI nd 0.05 0.12
[14-2-1122'44' 520 27 0EY 7 = =)L T=—F )L (#99) nd 0.02 0.05
[143] ~F T uEY Y 2=/ =—F )L nd 0.05 0.13
[14-3-1122'4,4' 55 -~FH T 0 EY 7 = =)L =—F )L (#153) nd 0.03 0.07
[14-3-2122' 4,4 5,6 ~FH T 0 EY 7 = =)L =—F )L (#154) nd 0.03 0.07
[14-4] ~FE T 0EY T = =)L =—TF )L nd 0.1 0.3
[14-4-1]12,2'3,3'4,5,6-~T X 70 E Y7 = =)L =—F /)L (#175) nd 0.02 0.04
[14-4-2]122'3,44'.5,6-~T X7 0EY 7 = =)L =—7 /)L (#183) nd 0.03 0.07
[14-51 A7 4 7 0EY T = =)L =—F )L nd 0.1 0.3
[14-6] / 7 0EY 7 = =)Lt —F LI tr(0.2) 0.1 0.3
[14-7] T H7BEY T2 =)LT—F /)L 0.5 0.1 0.3
[15] V7Vt & Ak (PFOS) 56 0.3 0.8
[16] ~V 7 VA uAs Z U (PFOA) 14 0.3 0.8
[17] 2 & Z7aa~N P 48 0.04 0.09
[19] 1,2,5,6,9,10-~FH T uE 7 a KT tr(0.5) 0.4 %0.9
[19-1] @-12,5,6,9,10-~F T aEv 70 RTh 0.4 0.1 0.3
[19-2] £-1,2,5,69,10-~FH T aEyv s a KT h v tr(0.10) 0.08 0.21
[19-3]17-1,2,5,6,9,10-~F % T uEv 0o RTh v nd 0.2 0.4
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[20] #aA VI kT Z L~ 60 %0.2 0.6
[20-1] &/ HidkF 7 2 VK 40 0.03 0.08
[20-2] UHifkF 7 2 LK 14 0.02 0.06
[20-3] P UidkF 7 X L 4.6 0.02 0.06
[20-4] 7 K ZHELF T H LU 1.6 0.04 0.11
[20-5] N 2k 7 X LUK 0.23 0.03 0.08
[20-6] ~F Vb7 X L S tr(0.03) 0.03 0.07
[20-7] ~F 2k 7 X LU nd 0.02 0.04
[20-8] A7 Z¥EfkF 7 HZ L~ tr(0.03) 0.02 0.05
RI]~FHronrH-13-Vx 2,400 | 2,400 | 2,400 20 50
[22] X Frmna T /) =N Z DR T 2T L 12 %0.3 0.9
[22-1] X% ZunTx /=)L 1.6 0.2 0.6
[22:2] v Frpuy="—) 10 0.1 0.3
[23] MR ST 7 4 VB nd X400 1,100
[23-1] RT3 tr(100) 100 400
[23-2] iRk Y T LV HE tr(100) 100 300
[23-3] i Bk R 7 5 nd 90 260
[23-4) iR N U T nd 80 250
[24] ¥ =L nd 0.2 0.4
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